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1. Tick the calculation which matches the image below.
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2. Complete the calculation and bar model for the image below.
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3. Jordan and Kara are sharing 15 counters.
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Jordan thinks he has more counters than Kara. Is he correct? Explain your answer.
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4. Tick the calculation which matches the image below.
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4. Mason and Lara are sharing a jar of 24 coockies.
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Mason thinks that he has eaten 4 more cookies than Lara. Is he comrect? Explain your
answer.
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7. Tick the calculation which matches the image below.
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8. Complete the calculalions for the image below.
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#. Ginn and Jacob are swimming lengths of a 3é6m long pool.
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Quinn thinks that she did 15m more than Jaceb. Is she cormrect? Explain your answer.
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3. Jordan is not comrect. He has 3 counters and Kara has 5 counters, so Kara has more

counters than Jordan.
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3 of 18 is 12

4. Mason is not correct. He has eaten 15 cookies and Lara has eaten 9 cookies, so Mason

3

has eaten 6 more cookies than Lara.

7.D
8.4% of 12 is 42; L of 12is 22
9. Quinn is not correct. She swam 60m (1 length and 24m) and Jacob swam 48m (1

length and 12m), so Quinn swam 12m more than Jacob.




